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February 24, 2020
warm-up 2-24

Rewrite in standard form: f(x) = -2(x+5)2(x-3)
Multiply the coefficient (a) by one factor first or by everything last.
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Vertical task
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(x+2)(x2+10x+24)y =
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y = (x+2)(x+4)(x+6)
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y = (x+2)(x+4)(x+6)
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